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Minute 1

1. The area of the shape is & square units.

Circle: True of False

2. Jenna wanis to purchase a pad of drawing paper for $5.00, a charcoal pencil for
$£0.75 and on eroser for $1.25.

How much money does she nead allogather to buy the supplies? §

3. 45
4
4. Complete the fact family. 5x7=35 TxS5=_... ..

H+7=3 P+FI= e

5. Circle the figure that matchas the shaded figure.
OO >
A B C D
4. The diference betweenB8and Sis_. . _
7. The exponded form ol 454 800+ 50 +..........
B ThesumolBand S5k,
For Questions ¥ and 10. circle the digit in the lens place.

9. 454
10. 725




Estimating Addition Calculations

1. Which of these calculations
give an answer of about 50?

34 + 17
13 + 45
28+ 3
45 +18

2. Which of these calculations
give an answer of about 60?

37 + 23
31+16
17 + 53
39 +29

3. Which of these calculations
give an answer of about 807

72 + 25
47 + 31
29 + 32
35 + 27

4. Which of these calculations
give an answer of about 100?

87 + 26
14 + 98
82 + 17
45 + 67

5. Which of these calculations
give an answer of about 120?

84 + 23
46 + 76
98 + 32
53 + 56

6. Which of these calculations
give an answer of about 150?

76 + 77
63 + 76
125 + 41
95 + 43

7. Which of these calculations
give an answer of about 200?

120 + 60
50 + 180
130 + 70
140 + 160

8. Which of these calculations
give an answer of about 300?

150 + 175
205 + 90
105 + 175
75 + 220

9. Which of these calculation
give an answer of about 4007

234 + 129
294 + 76
301 + 102
241 + 156

10. Which of these calcu-
lations give an answer of
about 110?

87 + 26

14 + 98

82+ 17

45 + 67

11. Which of these calculations
give an answer of about 2507

124 + 221
113 +135
26 + 23
175 + 55

12. Which of these calculations
give an answer of about 3507

237 + 114
290 + 98
104 + 216
98 + 228

13. Which of these calculations

14, Which of these calculations

15. Which of these calculations

give an answer of about 500? |give an answer of about 750? |give an answer of about 1000?
245 + 275 534 + 220 901 + 156
135 + 450 235 + 480 139 + 786
285 + 180 150 + 563 456 + 553
345 + 160 378 + 330 782 + 214
!
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Addition: 3 digit addition without regrouping
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Place Value to

Remember:
digits have their place;
each column gives a value;

where a number is placed shows its value.

Thousands Hundreds Tens
9 4 8
9000 400 80

10 000

Ones

1. What is the value of each number underlined? Write the value as a number.

a. 9482 -= e. 4220-=
b. 1025= f. 3715=
c. 8763= g. 2842=
d. 5438 = h. 6297 =

2. Complete the following:

4352 = 4000 + 300 + 50 + 2

a. 1275= +200+  + e
b. 5489 = + +80+ f
c. 3734= + + + 4 g
d. 6644 =6000 + + + h.

= 6000 + 800 + 60 + 7

= 5000 + 400 + 20 + 2

= 3000 +700 +20 + O

= 9000 + 400 + 60 + 2

< -
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Minute 2

Name: . . Date: .
1. 15-8=,
2. Continue the pattem. B A AW o s g
3. kX!

ST

4. Circle the figure that & congruent (same shape and size) 1o the shoded figure.

LGN A

5. 38

- 5
é. Complete the foct famiy. bx7 =42 Txb=.
2+7=6 42+6=,

7. 12

In Questions 8 fo 10, does the figure have a line of symmelry? Write yes or no. If yes,
draw the line(s) of symmelry.

. IR




Estimating Subtraction Calculations

1. Which of these calculations
give an answer of about 10?

34 - 23
64 - 45
27 -12
98 - 77

2. Which of these calculations
give an answer of about 20?

45-18
39 -29
37-16
N-17

3. Which of these calculations
give an answer of about 30?

92 - 54
31-12
37-16
76 - 47

4. Which of these calculations
give an answer of about 40?

77- 26
114 - 98
87 - 46
45 - 17

5. Which of these calculations
give an answer of about 507

84 -23
124 - 76
98 - 32
53-1n

6. Which of these calculations
give an answer of about 60?

76 -17
63-1
125 - 54
95 - 43

7. Which of these calculations
give an answer of about 70?

120 - 60
250 - 180
130 - 70
200 - 160

8. Which of these calculations
give an answer of about 807

150-75

205 -120
220 - 150
300 - 220

9. Which of these calculation
give an answer of about 90?

234 - 129
294 - 213
301 -102
241 -153

10. Which of these calcu-
lations give an answer of
about 100?
324 - 221
113-35
226 - 31
175 - 55

11. Which of these calculations
give an answer of about 150?

237 - N4
290 - 98
404 - 216
380 - 228

12. Which of these calculations
give an answer of about 2007?

490 - 265
431- 239
835 - 670
496 - 267

13. Which of these calculations
give an answer of about 2507

14. Which of these calculations
give an answer of about 350?

15. Which of these calculations
give an answer of about 5007

345 -98 934 - 627 934 - 427
513 - 245 513 -135 613 - 145
268 - 31 428 - 231 728 - 231
459 - 181 465 - 112 1045 - 518
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Place Value to 10 000

Remember:
digits have their place;
+ each column gives a value;

+  where a number is placed shows its value.

Thousands Hundreds Tens Ones
9 4 8 2
9000 400 80 2

1. What is the value of each number underlined? Write the value as a number.

a. 9482 = e. 4220-= i. 7879 =
b. 1025 = f 3715= j. 8754 =
c. 8763= g. 2842 = k. 2301=
d. 5438 = h. 6297 = l. 1007 =

2. Complete the following:
4352 = 4000 + 300 + 50 + 2

a. 3375= + 300 + + e. 6867-= + + +
b. 2689 = + +80+ f. 5422 = + - +
c. 3794= + + + g. 3720-= + + -
d. 6644 = + + + h. 9462 = + + +

3. Complete the following:

a. =1000+200+70 +5 e. = 6000 + 800 + 60 + 7
b. =5000+0+80+9 f. =5000+0+0+1
C. = 3000 +700 +30 + 4 g. = 2000 + 700 +90 + 0

d. = 6000 + 600 + 40 + &4 h. = 9000 + 900 +90 + 9

w * & twinkl.co.uk WJ




Minute 3

Name: .

3. The volume of the shape is 9 cubic units.

length x width x height = volume (| x3x 3] 3
- ’ » 3
Circle: - Tve or False
4. Complete the fact famdy. S5x8=40 BxS5=,
+8= : +5=_

5. Polly bought a new collar and leash for her dog. The total was $7.50. She paid
with a len-dodiar note.

How much change did she receive? $. ..

b 45
- 3
7. 14

Write < > or = fo complete Questions 8 fo 10.

8 3. 13
, TR | PROCTSR,
10. 310. 310
\_ -




Name:

Date:

>

Grade: ‘Wo’ckb/’zeetr %db
Subtraction
Three digit - No regrouping
425 769 865 222
- 325 - 455 - 221 - 120
366 399 750 374
- 200 - 278 - 130 - 170
662 703 732 386
- b32 - 400 - 312 - 112
350 717 366 477
- 200 - 614 - 161 - 373
214 756 662 851
- 102 - 140 - 461 - h21

® Worksheet Kids 2019
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Place Value to

Remember:

o P

o B

g 0

o

ey

digits have their place;
+ each column gives a value;

+  where a number is placed shows its value.
Thousands Hundreds Tens

9 & 8
9000 400 80

10 000

Ones

2
2

What is the value of each number underlined? Write the value as a number.

9482 = e. 4220-~= i. 7879= m. 4847 =
1025 = f. 3715= j. 8754 = n. 9329 =
8763 = g. 2842-= k. 2301= 0. 2846 =
5438 = h. 6297 = . 1007 = p. 10000 =
Complete the following:
4352 = 4000 + 300 + 50 + 2
3375=_ +300+ + g. 6867= + + +
2689 = + + + h. 5422 = + + +
3794 = + + + . 3720= + + +
6644 = + + + . 9462 = + + +
9744 = + + + k. 6004 = + + +
5824 = + + + . 9999 = + + +
Complete the following:
=1000 +200+70 +5 g. = 9000 + 800 + 80 +1
=5000+0+80+9 h. = 7000 + 0 + 50 +1
= 3000 + 700 + 30 + &4 L. =2000+700+90+0
= 6000 + 600 + 40 + 4 - = 9000 +900 +90 + 9
= 6000 + 800 + 60 + 7 k. = 4000 + 200+ 70 + 8
=5000+0+0+1 L. =8000+0+90+9

w * % &
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Minute 4

Name:
LN

2. 7)35 Which number i the dividend in this problem? ..

3. Riey hos a 100-poge book. Sha has read half of it

How many pages does she have laft to read? ... .poges
4. Complate the fact family. Fud=, : 4nd=,
J5+9=__ ... Js+d=_ .. ..
5 4)28
& &2 7 14
+ 7 X 2

For Questions 8 fo 10, write the equivalent frachion.

=E=Ra il

B. i = — g i = —_—
4

T




Name

Date

3-DIGIT ADDITION SHEET 6

1)

9)

13)

17)

21)

+

574
618

659
327

927
435

765
86

534
281

781
56

2)

6)

10)

14)

18)

22)

+

836 3)
241
721  7)
634
652 11)
873
616 15)
559
732 19)
255
690 23)
342
R T SALAMANDERS (O

489
325

538
480

564
459

884
475

634
466

386
295

4)

8)

12)

16)

20)

24)

=

509
+ 47

453
+ 379

807
+ 228

936
+ 228

556
+ 378

943
+ 759
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Minute 5

1. The area of the shape is 9 square units.

Circla: True ofF False

2 3x5=15 Which number is the product? .

3. &8
- g

4. Carol wants to buy 4 pens for $0.75 each.
How much monay does sha nead? §,

5. 21
+ 4

6. 8)72

7. The expondad form of 489 i 400 + , 49,

B8 18
i 3

For Questions ¥ and 10. write the value of the bold digit.
?. 50=_.. . .1ens

10. 70 =. Jlans




Calculating Change Word Problems
Whole dollar [1]

1. Nick bought a $25 video game using two $20 notes. How much change did he receive?

. Tim bought some lollies. He handed the shop keeper a $10 note and was given $4 in change. How

much did the lollies cost?

Pam went shopping for fruit and vegetables while Hank went shopping for meat. Pam spent $38

and Hank spent $45. How much did they spend altogether?

Kym's mobile phone bill was 534 last month. This month it was only $23. How much money did

she save compared to last month?

Rachael bought a football for $12 and a pair of boots for $35. She gave the shop assistant $50

and was given $5 change. Was this the correct amount of change? Show how you know.

Copyright © www.easyteaching.net




e 3Digit Subtraction

784
-26 9

957
-3 295

O s

788
-297

925 904 879
-226 =784 =929
773 625 948
-222 -M74 =250
H96 829 600
-337 =579 =2MH
O 2 e0 00 »++:0. o'~
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How many paople said padars are her
lavounte ity

S [ ]

. Whach fruit s the most populars

The numbear of paople who said apples ane
thésr lavounte truil aguals the sum of tha

numbear of paople who soid

SN | s

Name: Date:
1. g2 2 15
+ 3 x B
3. The volume of the shape is 12 cubsic units. 2
langth x width x haight = volurme (2x3x 2)
Circle: - True or False - 3
&
4. 7742  Which number i the divisor?
5. A quadriateral has - ... sides and four ongles.
6. 4)48
7. 54
- 2
Use the pie graph lo complete Questions 8 fo 10.
Favourite fruit

welfarrmealon

(33

. Jam ther fovourie frol




Calculating Change Word Problems
Whole dollar [2]

Blake bought a T-shirt for 518. He was given $2 change. How much did Blake give the shop

assistant?

. Andrew took a $50 note out of his wallet and bought a movie ticket which cost $14. How much

change did he receive?

Kelli had $50. She bought a book and was given $26 change. How much did her book cost?

. Tina has been saving $14 each week for the past 5 weeks. She now has enough to buy a bike that

costs $60. How much money will she have left over after she buys the bike?

Jenny paid $23 for a DVD using a 550 note. The shop assistant gave her 525 change. Did the shop

keeper give the correct change? Show how you know.
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Subtraction: 3 digit subtraction without regrouping (Set D)

= =T
ag =
Ly —

4)

—_ —
it [ Y|
= M

3

Sl
M~ O
M= A

2]

™ =
o
15—

1)

O
o0
w

W0
= =T

o

o N

B)

P P
LM =
M~ W

5)

ch o0
o0 —
™

12)

—
— 0
oh o0

1)

0w
oo =
Falap

LLV)]

— —
™ —
L™ M

9)

16}

15)

14)

13)

798
- 492

20

O Claghliare LLC

Frintable Acthdlns & Worksheats

LAl

Books & Ledarming Rosources

Clay Mazs. com



	Cover Page
	3.4A Year 3 Mathematics work pack higher level



